ANTIDERIVATIVES AND THE FUNDAMENTAL THEOREMS OF CALCULUS

20. In order to evaluate /tsin(ﬁ) dt using substitution, you would probably use u =
£2

cos(t?)2t dt

2tdi

sin(#?)

mo o w »

t

22. In order to evaluate / \/_1“%_3:5 dz using substitution, you would set u =
A =z
B. 1-z2 ’
C 1-=z
D 1
Y er:

E. Substitution won’'t work.

23. If g(z) = zv/9 — z2, the antiderivative G(z) =

A, %zz - %za +C

B. %..""..2 —z34C
c. -ie-z5H+cC

(9 —2*)3
3

3
E. -3 (\/9 - xz) +C

+C

24. Given that g’(t) = (sint)(5 + 5 cost)3, find g(¢) if g(0) = 0.
9(t) = —3(5 + 5cost)? .

g(t) = —3(5+ Scost)* + 2,500

g(t) = (54 5cost)? — 2,500

g(t) = —35(5 + 5cost)? + 500

mo o m »

9(t) = 25 (5 + 5cost)? — 500



25.
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26.

30.
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34.

o w >

!.';J

]

/Sx(zz +7)3dz =

2+ 7 +C

ool

(22 +7)4+C

L 1% ]

1 +7i+C
2+ 74+ C

None of these.

2
xT
/ G127 %~

—(2z° —12)*+ C

e
8@z —19) T ¢

=
30228 — 128 © @

-1z -12)%+C

None of these.

/seczx tanzdzr =

isec®z+C
tan?z + C
%ta:n"’:.c+C

2sec?z + C

None of these.

/ sin(4z) sec®(4z) dx =

1sec’(4z) +C
3 sec®(4z) + C

35 sec’ (4z) + C

None of thecs

55 sec®(4z) tan(4z) + C



